
 
 
 

                      Дифференциация          
                             букв  

                            П-Т 

 



                       
                            Обозначения: 
 
буква  П  п  -              (два  элемента)  

 

 буква  Т  т  -            (три элемента)  

     



ВСТАВЬ БУКВУ 

ПРОВЕРЬ! ушка 



Пушка 

ПЕРЕЙТИ К 
СЛЕДУЮЩЕЙ 
ШИФРОВКЕ     



ВСТАВЬ БУКВУ 

ПРОВЕРЬ!    Зон 



Зонт 

ПЕРЕЙТИ К 
СЛЕДУЮЩЕЙ 
ШИФРОВКЕ     



ВСТАВЬ БУКВУ 

ПРОВЕРЬ!     угало 



Пугало 

ПЕРЕЙТИ К 
СЛЕДУЮЩЕЙ 
ШИФРОВКЕ     



ВСТАВЬ БУКВУ 

ПРОВЕРЬ!     альма 



Пальма 

ПЕРЕЙТИ К 
СЛЕДУЮЩЕЙ 
ШИФРОВКЕ     



ВСТАВЬ БУКВУ 

ПРОВЕРЬ!  Шор     ы 



Шорты 

ПЕРЕЙТИ К 
СЛЕДУЮЩЕЙ 
ШИФРОВКЕ     



ВСТАВЬ БУКВУ 

ПРОВЕРЬ!  Шор     ы 



Шорты 

ПЕРЕЙТИ К 
СЛЕДУЮЩЕЙ 
ШИФРОВКЕ     



Панцирь носит черепаха, 
Прячет голову от страха. 


